FRANKEN

Ref. Nr. BS0901 - BS0904 - Control No. 14502

Infodisplay

Infodisplay / Présentoirs / Portaposte

l!Eii

BRANDS

LEITZ ACCO Brands GmbH & Co KG
SiemensstraBe 64

70469 Stuttgart, Germany

Phone +49 711 8103-0

UK Importer ACCO UK Ltd.
Millennium House

65 Walton St, Aylesbury HP21 7QG
United Kingdom

@ Bevor Sie mit der Montage beginnen, tiberprifen Sie bitte den Inhalt auf Vollstandigkeit.

Lieferumfang:

2x Kreuzschlitzsenkschraube M6x30 (1)
2x Linsenkopfschrauben M6x30 (5)

2x Kreuzschlitzsenkschraube M4x12 (7)
1x FuBplatte (2)

1x Standrohr(3)

1x Halterung (4)

1x Wechselrahmen (6)

Montageanleitung:

1. FuBplatte (2) mit Schrauben (1) an Standrohr (3) verschrauben.

2. Halterung (4) mit Schrauben (5) von oben auf Standrohr (3) verschrauben.

3. Wechselrahmen (6) mit Schrauben (7) durch die Bohrungen im Unterprofil auf
der Halterung (4) anschrauben.

Before you start to assemble it, please ensure that all the following components are provided.

Packing List:

2x Recessed countersunk head screw M6x30 (1)
2x Tallow-drop screw M6x30 (5)

2x Recessed countersunk head screw M4x12 (7)
1x Baseplate (2)

1x Upright (3)

1x Holder (4)

1x Poster grip frame (6)

Assembly instructions:

1. Screw baseplate (2) to upright (3) with screws (1).

2. Screw holder (4) onto to of upright (3) mit screws (5).

3. Screw poster grip frame (6) onto holder (4), inserting screws (7) into holes in
bottom profile.

Februar 2024



